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6. Serial Host Protocol 

6.1 General Settings 

Baud Rate 9600 

Data Bits 8 

Stop Bits: 1 

Parity(check bits): 0 

 

6.2 Commands 

Each command or Request: 

‐Consists of 9 bytes (byte0‐byte8) 

‐Has the Sensor # in byte‐1 (factory default is 0x01) 

‐End with Checksum (See page 5 for Checksum calculation) 

   

0x86 Read CO2 concentration 

0x87 Calibrate CO2 to zero 

0x88 Calibrate CO2 to known concentration 

 

6.3 Read Co2 Concentration 

Request 

Byte0  Byte1  Byte2  Byte3  Byte4  Byte5  Byte6  Byte7  Byte8 

Start Byte  Sensor #  Command  ‐  ‐  ‐  ‐  ‐  Checksum 

0XFF  0x01  0x86  0x00  0x00  0x00  0x00  0x00  0x79 

 
 
 

Response(example) 
Byte0 Byte1 Byte2 Byte3 Byte4 Byte5 Byte6 Byte7 Byte8 

Start 

Byte 

Command Concentration 

(High Byte) 

Concentration 

(Low Byte) 

- - - - Checksum 

0XFF 0x86 0x02 0x60 0x47 0x00 0x00 0x00 0xD1 

 
Percentage= (256 x High Byte) + Low Byte 

6.4 Calibrate Co2 to Zero 

Request 

Byte0 Byte1 Byte2 Byte3 Byte4 Byte5 Byte6 Byte7 Byte8 
Start 

Byte 
Sensor 

# 
Command 

 
- - - - - Checksum 

0XFF 0x01 0x87 0x00 0x00 0x00 0x00 0x00 0x78 
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6.5 Calibrate Sensor Span 

Request 

Byte0 Byte1 Byte2 Byte3 Byte4 Byte5 Byte6 Byte7 Byte8 
Start 

Byte 
Sensor 

# 
Command 

 
Concentration

(High Byte) 
Concentration

(Low Byte) 
- - - Checksum

0XFF 0x01 0x88 0x07 0xD0 0x00 0x00 0x00 0xA0 
 
Concentration (High Byte) =concentration/256 

Concentration (Low Byte) =concentration ‐ concentration/256 

 

6.6 Calibrate CO2 to Known Concentration 

Calculating Checksum 

The checksum is calculated as (NOT(Data1 + Data2 + Data 3+……Data7))+1 
 
Example: Read Co2 Concentration 

Request 

Byte0 Byte1 Byte2 Byte3 Byte4 Byte5 Byte6 Byte7 Byte8 
Start Byte Sensor # Command 

 
- - - - - Checksum 

0XFF 0x01 0x86 0x00 0x00 0x00 0x00 0x00 0x79 
 

1. Add up all of the bytes 1‐7 using 8‐bit addition (byte‐0 is NOT used in checksum calculation)        
  0x1 + 0x86 + 0 + 0 + 0 + 0 + 0 = 0x87 

2. We then get the Inverse or ‘NOT’ of the sum from step 1 
        0xff – 0x87 = 0x78 
3. Add 1 to the result 
        0x78 + 0x01 = 0x79 
 

6.7 C# Example 

 

 

 

 

 

 

 

 

 

 

char getCheckSum(char *packet) 

{ 

 char i, checksum; 

 for( i = 1; i < 8; i++) 

 { 

  checksum += packet[i]; 

 } 

 checksum = 0xff – checksum; 

 checksum += 1; 

    return checksum; 

} 
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